Masonry Analysis and Design

Homework 1
,\?',,\t 1500 1. A solid grouted 8-in concrete masonry beam is reinforced with two #4 reinforcing bars
LM and has an effective depth of 32.5 inches. Determine the allowable moment. What is the
oe e W] llowable load if th fIt2 ti is 10.67 ft?
Med Wt vaks™] .,.q{&y?*owa e load if the effective span is 10.67 ft?
L'y
{:‘,ﬁ 1560 2. A 10-in.-wide simply-supported brick lintel with a span of 15 feet is to carry a service
(GR40 A load of 875 1b/ft, not including its own weight. The overall depth of the beam is 36 in.
E A2 The flexural reinforcement consists of two #5 bars. Determine the allowable moment for
A the beam. Is the beam safe?

3. Aretaining wall is to be made of 12” unreinforced CMU. Determine if the wall is

sufficient.
f'wm = 1,500 psi Weight of masonry (12-in. thick - solid grouted) = 100 psf
Type N mortar (PCL) Running bond
Weight of soil y = 100 pcf Active earth pressure coefficient K = ¥4
Calculations and Discussion Code Reference

Elevation 104°-0*

YKk = (100X4)(6.0) = 200 psf

Reinforced Coscrete Footing
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